
Instructions Polaris General

STEP THREE – Carefully align the windshield with the front of the roll cage in the approximate mounting 
location. Use the supplied clamps, bolts and washers to install the windshield onto the machine. Be 
careful not to over tighten the bolts.  

STEP TWO – Apply the two 6" adhesive pieces of foam to the roll cage in the corresponding locations 
of the top corners of the windshield as shown in the above image. The adhesive on the trim is very 
strong, where ever it is placed it will be permanent. 

If applicable install windshield wiper before 
step two. There is an additional instruction 
sheet for wiper installation.

STEP ONE – Install handle assembly. Bolt the flap mount to the plastic flap using two 10-24 x 0.5” bolts. 
The handle should point towards the outside of the vehicle.  Attach the bracket with threaded insert 
to the bottom side of the bend on the windshield frame using two more 10-24 x 0.5” bolts and 10-24 
lock nuts. Tighten bolts and loosen thumb screw to test if flap mechanism moves properly. Adjust the 
placement of the bracket with insert if the flap doesn’t work. Make sure the left and right handle as-
sembly is in the correct orientation as shown in the picture.

Trim Placement

Handle Orientation

PRO TIP

When installing bolts use a small amount of blue thread locker, such as Loctite. This will keep the bolts from backing out during use. 

4 – Hook Clamp

4 – Bolt  1/4-20 × 1”

4 – Flat Washer  1/4”

2 – 3/4" Adhesive Bulb Foam (6") 

4 – Lock Washer

1 – Long Handle Assembly Left

1 – Long Handle Assembly Right

8 – Locknut 10/24

8 – Bolt 10/24 × 1/2”


